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A T
GENERAL KNOWLEDGE

AT 1 Y8 91 faee ‘srifeca w1’ e vaifyq femam mam on 7

(A) Taamr 2023 (B) 3TRISH 2024 (C) SIT 2023 (D) SeFsX 2023
When was first solar mission of India ‘Aditya L1’ launched ?

(A) September 2023 (B) October 2024 (C) June 2023 (D) November 2023
forg st © o IS @, 2023 IEifca R @ Y 7

(A) ST (B) T3 (C) (D) e

In which city Para Asian Games, 2023 were held ?

(A) Beijing (B) Guangzhou (C) Hangzhou (D) Shanghai

2024 9 WRe gffa va fafm= o (Teft) o1 sreae fope fgea fomem o o 7

(A) 3T =Y (B) TTHS It = (C) . %. far (D) €. AR, Hear
Who was appointed as the Chairperson of the Securities and Exchange Board of India (SEBI) in 2024 ?
(A) Ajay Tyagi (B) Madhabi Puri Buch (C) U. K. Sinha (D) D.R. Mehta
aferrg § T Tf Terifeh arel aftremm adt e feREeh g IE oAl TR 7

(A) HA BET (B) TSTepTa

(C) Ifd FAR (D) STE T SRR

Who launched ‘Tamilaga Vettri Kazhagam’, a new political party in Tamil Nadu ?

(A) Kamal Hasan (B) Rajnikant

(C) Ajith Kumar (D) Joseph Vijay Chandrashekhar

19 9 Sft-20 f3reR T el SEfSa fomam mm o 2

(A) 7 feoeft, Wi (B) fait fg s, ssfiet

(C) Sebrell, guSHTm (D) HTEHI, TF

Where was 19" G-20 Summit held ?

(A) New Delhi, India (B) Rio de Janeiro, Brazil

(C) Jakarta, Indonesia (D) Moscow, Russia
oS MIA M 61 JeTd el gl ?

(A) 2 IS, 2014 (B) 21 3T&, 2014 (C) 2254l 2015 (D) 28 37, 2014
When Swachha Bharat Mission was started ?

(A) 2 October, 2014 (B) 21 August, 2014 (C) 22 January, 2015 (D) 28 August, 2014
TETSIHTT wieqor 1 FE qauyy fohe femam o ?

(A) 3. T Sfam (B) T. J. TH (C) . TA. TIAT (D) T. TH. TgaEH
Who was the first to apply the sociometric test ?

(A) J. A. Davis (B) A.J.Reiss (C) J. L. Moreno (D) A. M. Edwards
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10.

11.

12.

FraferRaa 1w 31 o Fafra hifu -
|. SR 9
II. THRI T FHER
III. FHehT ST fergetsor
IV. THeh! ST SR TehToT
i feu T e # @ wE I AT
e :
(A) L LIV, 1 (B) I, 1v, 1,1 (C) 1,1V, | (D) 1, 1,1V
Arrange the following in a sequence :
I. Raw Data
Il. Data Processing
[ll. Analysis of Data

IV. Presentation of Data
Choose the correct answer from the code given below :

Code :

(A) 1,11, 1V, 11l B) 1, IV, 1L, Ii (©) I, 1,1V, | ) I, 1,11, IV
frefefaa 9 9 w9-91 ©h 7a yfawifie =1 i @ o iy s yrfies Jfdes fomm g 2
(A) Tiferhia mecd gifaa s (B) fersmrer wferest 3HTehR uTed BT

(C) 3I~Ta INY Ugfi 1 J=AT HEAT (D) Sfawfir <t mMafa=ar s T

Which one among the following is a primary ethical consideration when conducting research involving
human participants ?

(A) Ensuring statistical significance (B) Achieving a large sample size

(C) Utilizing advanced research methodology (D) Maintaining participant anonymity

W e S 3r=awor menfid fetor i fafyr 2, fohmes g sy i i o

(A) Toaforem S (B) SH R (OEEES] (D) Sf= fr
Who introduced discovery learning method of inquiry based education ?

(A) William James (B) Jerome Bruner (C) John Dewey (D) Jean Piaget

foaformer sreH M H BH-H vgd 3= e # “felrea @fin” 6t gAfai &1 g™ w@
T LT @At B 7

(A) =S IR IREE (B) wrd Ted fefStet emgsd (NDLI)

() fefsrea sfean wrishn (D) sfeu 7t Ui o feafame™ (IGNOU)
Which initiative of UGC aims to address the challenges of “Digital Learning” in higher education ?

(A) Swachh Bharat Abhiyan (B) National Digital Library of India (NDLI)

(C) Digital India Programme (D) Indira Gandhi National Open University (IGNOU)

IS &A1 10 1 915440 fafafore w=n 8 7

What is the binary representation of decimal number 10 ?
(A) 0110 (B) 1001 (C) 1010 (D) 1100
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13.

14.

15.

16.

17.

18.

MrraTee SIeg 1 a1 8

(A) 1024 STSeH (B) 1024 fheTiamge®  (C) 1024 WTaTgeH (D) 1024 ThTTaTSeH
The term gigabyte refers to

(A) 1024 bytes (B) 1024 kilobytes (C) 1024 megabytes (D) 1024 gigabytes
TRl I TUHT =g = § | -1 199 TYFd BiaT @ 7

(A) MS Access (TH. TH. TFaH) (B) MS Excel (TH. TH. TFE)

(C) Google Docs (T[Tl STeH) (D) MS PowerPoint (TH. TH. YTeRUTEC)

Which tool is used among the following for data calculation ?

(A) MS Access (B) MS Excel

(C) Google Docs (D) MS PowerPoint

= i -w ‘e feamw’ ® 7

(A) SR wig fet (B) A (C) W& (D) s Tt

Which of the following is an ‘input device’ ?

(A) Bar code reader (B) Monitor (C) Projector (D) Braille reader
vt aftferfaet & uRtads & drere & die o et wiafafe & aw 6 sar S 8

(A) Triefeafasht (B) uftEreT fas

(C) ey fosme (D) afreht

The timing of seasonal activities of plants in relation to change in environmental conditions is referred to as
(A) Ecology (B) Phenology

(C) Climatology (D) Forestry

“SISTSIAT Terhicl’ Fefafaa o @ form v & a=fa 8 7

(A) Totrea et 9 (B) 3y @

(©) Shfea gonfea Sfai & (D) TS TR EX&qo |

‘Cartagena Protocol’ is related to which one of the following ?

(A) Heritage sites (B) Wetlands

(C) Living modified organisms (D) Ozone layer conservation
Frafafea o @ SFR-t s R snerfa yorelt 7 e T Scen sHufhl # el ud o Hedl 8 7
(A) HTET TF (B) HTeA ToeREsm

(C) hrai feich (D) e gfe

Which one among the following is a market based system where companies can buy and sell emission
permits ?

(A) Carbon Space (B) Carbon Sequestration

(C) Carbon Sink (D) Carbon Trading



19. Tr=faRea agyeefia i = 37 m=aa yfawd & ged %0 § Faferm Hifvu |
. T SIS

II. ATSSIeH
1. SATeeSH

V. 3T
i feu T e # @ wEl I gRT
e :
(A) L 1L 1v, (B) I, 1v, 1,1 (C) 1, NIV, 1 (D) 1,1, 1,1V
Arrange the following atmospheric gases in order of their volume percentages in descending order.
I. Carbon dioxide
II. Nitrogen
[ll. Oxygen
IV. Argon
Choose the correct answer from the code given below :
Code :
(A) L LIV, (B) I, 1v, 1,1 (C) 1,11V, 1 (D) 1,1, 1,1V

20. Tr=afefaa ugi 1 37 wefla safy & sur W ged 0 o safend Fifsd |
RIE]

e

RS

. g

ﬁﬁﬁwwﬁﬁaﬁwgﬁn

He :

(A) 4,3,2,1 (B) 4,1,3,2

(C) 3,2,1,4 (D) 3,4,2,1

P w0 b=

Arrange the following planets in descending order according to their orbital period.
1. Saturn
2. Mars
3. Jupiter
4. Uranus

Choose the correct answer from the code given below :

Code :
(A) 4,3,2,1 (B) 4,1,3,2
(C) 3,2,1,4 (D) 8,4,2,1



21.

22.

23.

24.

25.

=1 & e few T &, Rl & wh B Sl (A) U1 GEL 1 SRV (R) HET TR |
MR (A) : TS HIS Te™ ¢ & Feheteht Tz T A HAT ], 91 98 $S SN 33 IdT 8 |
AT (R) : Y5 % o1 1 T TG & oA b Ica A 31U 2 |

= feu MU e § T W AT

%

(A) (A) 3T (R) GHT T & 3R (R), (A) h1 Tl SATEAT hiell

(B) (A) 3R (R) T & &, W (R), (A) hl Tl & Tl hil 2

(C) (A) ¥ ?, T (R) TeTd &

(D) (A)TTeTd &, W (R) ¥ B

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : When a ship leaves a river and enters the ocean it rises a little.

Reason (R) : The density of sea water is more than that of river water.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

fopm fafer =1 stfiaer W il Al 6l dosh | ST § HURHE § WRA o [T9TSH i ©HR HH

%1 gl AT 7
(A) 145, 1947 (B) 125[d, 1947 (C) 043d, 1947 (D) 033, 1947

On which date Gandhiji asked Congressmen to accept the Partition of India at the All India Congress

Committee Meeting ?

(A) 14 June, 1947 (B) 12 June, 1947 (C) 04 June, 1947 (D) 03 June, 1947
frefafaa & @ F-o1 v fover aued o=t § 78 8 7

(A) forem (B) =T I

(C) ¥Te 3R A (D) Wk TETE

Which one of the following subjects is not in the concurrent list ?

(A) Education (B) Administration of justice

(C) Weights and measures (D) Public health

RS fohereh GUaR H TTgd &9 H 3T/ o7 ?

(A) Tomgar (B) 3T (C) T " (D) J&5A

In whose court did Megasthenes come as an ambassador ?

(A) Bindusar (B) Ashok (C) Chandragupta Maurya (D) Brihadratha

T H g Smed fope o @ foRam e e ¢
In which year Dyarchy was started in the provinces ?
(A) 1909 (B) 1919 (C) 1935 (D) 1937
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26.

27.

28.

29.

30.

IR e & foha 3g=se o dgd e & IR 1 Hifees HAfUeR & &9 § T § Wit g 7

(A) 3IFT=E 21(A) (B) 3= 45

(C) 3TI=BE 19 (D) 3T=g 32

Under which Article of Indian Constitution is the Right to Education guaranteed as Fundamental Right ?
(A) Article 21(A) (B) Article 45

(C) Article 19 (D) Article 32

fore wfaum™ emem g1 HeshR) affadi i Faures gt JeH foham w7

(A) 96T Hfqg™ HeNEA (B) 97 af Hiaum™ T=NeH

(C) 99 df Tfera wmed (D) 101 = Hige= Heme

By which Constitutional Amendment, the Co-operative Societies were given Constitutional status ?
(A) 96 Constitutional Amendment (B) 97 Constitutional Amendment

(C) 99t Constitutional Amendment (D) 101t Constitutional Amendment

HITIg TEMER (2020 — 21) & S T&8 S qLG TATIId ST hT HH ARART feraedn & ded §
=afd IR |

(A) iV, T, I (B) ¥, i, e

(C) T, S, Hfy (D) 3@, Fe, HfY

Select the order of worst affected sectors in the context of Indian Economy during Covid Pandemic
(2020 — 21).

(A) Agriculture, Service, Industry (B) Service, Agriculture, Industry

(C) Service, Industry, Agriculture (D) Industry, Service, Agriculture

Teh @ <hl SUe, e fore) safaa <t foreft sl 81 31 9 8191 A8 31 781 ST 8, el &
(A) 3Ted TSR (B) MU= SR

(C) e SerTH (D) e ST

A type of unemployment in which the presence or absence of a person in a job does not make a
difference, is called

(A) Under employment (B) Formal unemployment
(C) Seasonal unemployment (D) Disguised unemployment
T F91e (2025 - 26) o T8 Tgell IR HeAT0T g HHISTh e whig 1 ST feam mm 2
(A) fafmior &= & sfieni & fol (B) Y & % #ftrehi & for
(C) 3TTeTE wiewrd et & for (D) wigan Hfieni o fort
Under the Union Budget (2025 — 26), first time Social Security Scheme for Welfare has been proposed for
(A) Manufacturing workers (B) Agricultural workers
(C) Online platform workers (D) Women workers
-7- 41



31.

32.

33.

34.

HHSTIMTHE
SOCIOLOGY

TR T AT ST0Y T hg (14C) hl LT feoeht A fopm o <t 8 oft 7

In which year Indian Cyber Crime Co-ordination Centre (14C) was launched in Delhi ?
(A) 2015 (B) 2000
(C) 2021 (D) 2018

38 fad & e Frefafed & @ SF-= faear Frar 6 faewar & 2 7

(A) &UTHTAT (B) HAEIoH

(C) It (D) enfefepar

Which one of the following according to Louis Wirth is not a trait of urbanism ?

(A) Transiency (B) Superficiality

(C) Anonymity (D) Religiousity
TR el § g5y, AE dK U9 31 g AT=hl e 1A il &t
g ¢ |

(A) ggardt (B) Gfed

(C) wirssameieh (D) ATAHTHS

The studies of ‘Yankee City’ by W. Lloyd Warner and others is an illustration of
approach on stratification system.

(A) Dialectical (B) Fragmented
(C) Reputational (D) Ceritical

dt. dRfey 4 form veq o wwoRmelE foveyor g gfaew 6 sEuren @i faswfaa fem en ¢

(A) TRET &% @M $I 3Aedi g (B) 3RS | Wl o dqdiep! gl
(C) haTsell TmTS § 3UER fafma gr (D) & 3fvea & fearg yomedt g
P. Bourdieu developed his concept of ‘habitus’ from the sociological analysis of which aspect ?
(A) Food habits in Asia (B) Cultivation practices in Israel
(C) Gift exchanges in Kabyle society (D) Marriage practices in Red Indians
-8- 41



35. T — 1 I T — 11 % A GATAT B |

T -1

(i)
a. ®. gy, forew .
b. 3. &. WA I,
c. IR, feae 1.
d. 3TR. SEeih V.
(A) a-Il b-IV  c-I
(B)a—III b1l c—1
C) a- b1l c—IV
(D) a-Il b-IV  c—ll

Match List — I with List — II.

a.
b.
c.

List -1

(Author)
C. W. Mills I
R. K. Merton Il.
R. Nisbet Il
R. Dahrendorf V.

=1 b-1V c—1
a-— III b-1ll c—1
a-— b—Ill c—1V
a- II b-1V c—1l

gt -1
()
ﬁaﬁaﬁaﬁwi&mﬁ

T3¢ HieN : fe sl fifea woma
T o e fasAii 3w grEred

d-1
d-1v
d-1
d-|

List -1l
(Works)
The sociological tradition
Sociological Ambivalence
White Collar : The American middle class
Essays in the theory of society
d-lil
d-1v
d-11
d-|

36. Sil. TF. HiE % AR HA’ o = HT HHIRGD § § 3THA @
. BT HAT

Il
V.

According to G. H. Mead, the sequence of the stages of the ‘Act’ from the following is

.
I.
.
V.
(A)
(€)

ST
T

Manipulation
Perception
Impulse
Consummation
im, 1, 1, v

I, 1, v, 1

®) 1, 1, 1V, 1l
() I, 1L, I, IV
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37.

38.

39.

40.

I THTSIIIE T /IIfIehIC sl ot bl {HeIeh AMHaT 8 ?

(A) et HTe (B) TA. IS
(C) IR, SELelh (D) IR, HifeTq
Which sociologist considers ‘Authority’ as the determinant of class ?
(A) K. Marx (B) L. Cosor
(C) R. Dahrendorf (D) R. Collins

1987 H T Tsg gRT T “3aTer hiAA W= ! fope 371 yaferd fard & Smn s g 7

(A) FAG 3TH A (B) T IeIhict
(C) SEvE (D) "=t
The report in 1987 by the United Nations, “Our Common Future” is also popularly known as which report ?
(A) Club of Rome (B) Kyoto protocol
(C) Brundtland (D) Monsanto

ferem a1 o “amfEdier ST 9 feord Bt 8 39 <o & fofw, graeh Y g 1 it B 7

(A) TTfeRT 881 (B) sfors '@

(C) BT HTEeH (D) TS T
Who said that the “Megacities” functions as magnet for the countries in which they are located ?
(A) Saskia Sassen (B) David Harvey

(C) Manuel Castells (D) Mike Savage

Frafafaa o & fepem €19 Stiger & amel 61 S, 399 w1 <fg R 31TE smgefedtr (1997) ®
w0 oft e srome g2 @ 3gw 9 7

(A) BT HReH (B) ST HTcTed
(C) B SN (D) 3Tcsel Aot

Who among the following had examined the cases of three movements, in his work, “The Power of
Identity” (1997), which have dissimilar concerns and objectives ?

(A) Manuel Castells (B) Craig Calhoun

(C) Herbert Blumer (D) Alberto Melucci

-10-
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41, g -1 g - 11 |1 gaferd |

T -1
(forgm)
a. T, g5y, Ul .
b. Irg g I,
c. et ssiX 1.
d. 3N 9 V.
o fe ™ % § @ wd W I |
He:
(A) a-—| b— Il c—1il
B) a-Ill b— Il c—1IV
©) a-1li b—IV c—Il
(D) a-1IV b— Il c—1i

Match List — I with List — II.

List -1
(Scholar)

a. W. W. Rostow l.

o

13

d. Ulrich Beck V.

. Yogendra Singh Il.
Peter Bergor 1.

g -1l
()

& R ATH THHIHS WY : T TH-FR
afIhE, 1960

TSRS 3ATh 3fueaq ¢fevm, 1973
< GINeT e 3ATh T@fedt, 1966
o 0=k AT

d-1Vv

d-1

d-1

d-1
List -1l
(Works)

The Stages of Economic Growth : A Non-communist
Manifesto, 1960

Modernization of Indian Tradition, 1973
The Social Construction of Reality, 1966
World Risk Society

Choose the correct answer from the code given below.

Code :

(A) a—| b—Il c—1il
(B) a-1li b -1l c—1V
(C) a-1I b-1IV c—1l
(D) a—1IV b -1l c—Il
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42.

43.

44,

frafafaa § @ fpaa << S 31fe § <l : snfeare veaem 37 awe sfugen g =i foran & 7
(A) sfae grEim (B) . TH
(C) et &F+i (D) SFr@ &R

Who among the following is the author of the book “The Coming of the Devi” : Adivasi Assertion in
Western India ?

(A) David Hardiman (B) K. Gough
(C) Gerda Lerner (D) Daniel Lerner

= e e feu U @
FUT -1 : I HEE & fo=r sfagm & Wifaemard) amon & fafga 9 |

FUA— Il : HI A & FTER, T & fo=m qmnfoes afteds 1 J&7 €14 ¢ |

3T BT o el H EfiRad # & Suge I T |
(A) Y | I 1| A1 T B

(B) A | 3T || T Terd B

(C) ®oH | T 7, Toheg %A 1 TToTd B

(D) YA | TTd 7, Tohed HoH Il TT B

Given below are two statements :

Statement — | : Karl Marx views are grounded in the materialist conception of history.
Statement -1l  : According to Karl Marx ideas of human being are the main source of social
change.

In the light of the above statements, choose the correct answer from below.
(A) Both statement | and statement Il are true

(B) Both statement | and statement Il are false
(C) Statement | is true but statement Il is false
(D) Statement | is false but statement Il is true

forem b feam o T Tsgare, Tse e wsg-Tsw, weft snyfre vyt % 3Iaag 7, fde 3¢
it wifa o fifga g 7

(A) IR TR (B) T T8

(C) T\ wIféa (D) . TugEH

Who argued that Nationalism, Nation and the Nation-State are all the product of modern civilization
whose origin lies in the industrial revolution ?

(A) Ernest Gellner (B) Martin Shaw

(C) Gus Martin (D) B. Anderson

-12- 41



45.

46.

47.

48.

oy fagra gerEy ¥ fohe | ere Sisa war g 7

(A) TR Tl (B) = TEy

(C) TehTITcHeh TTHSe (D) |Mfeeh JaT
What does conflict theory primarily focus on ?

(A) Social stability (B) Class struggle

(C) Functional harmony (D) Collective consciousness

frafafiga 8 9 foraa Alh-TR F1dcaes hl TR T Yfadred feram ?

(A) T Tgwhiee (B) 2. drswm

(C) U. AR, <ET8 (D) wH. #. g&
Who among the following propounded the concept of ‘Folk Urban Continuum’ ?
(A) Robert Redfield (B) D. Sanderson

(C) A.R. Desai (D) S.C. Dube

frafafed o @ foraent wa o &6 smygfierar v Sifem Gwpfa g 7

(A) TH. hreed (B) Tt frg==

(C) . efer (D) 3. BeREH

Who among the following opined that modernity is a risk culture ?

(A) M. Castells (B) Anthony Giddens
(C) J. Derrida (D) J.Habermas

aferreh TEhla 3 Fegfies Tepfa % mea frmfofad § & forem e fora 2 2
(A) 3TeH Ta HEehTh (B) STt ffer
(C) Tew fetuea (D) T Boed sHfewe
Among the following who distinguished between subjective culture and objective culture ?

(A) Ogburn and Nimkoff (B) Georg Simmel

(C) Ralf Linton (D) Ruth Fulton Benedict

-13-
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49.

50.

51.

fope AT o UE feufat fiee amedforss &9 4 iAo foRam o 8, o 379+ GRomHi § aredfae 8 ?

Who perceived that situations that are defined as real are real in their consequences ?
(A) W.I. Thomas and D. Thomas
(B)
(C) Davis and Moore
(D)

Horton and Hunt

Maclver and Page

% FE FAM Th IETEW B
(A) 3TSHIHT T ST T (B) Tfeier AT o
(C) TuTSfieRTT (D) et 91 =i

The KU KLUX, KLAN is an example of
(A) Tribe of Africa (B) Resistance movement
(C) Socialization (D) Role set

3. TSt & 3TER ST faeh™ o ffaiad = ol & shaeg it |
i. qd e =
i, 3TE ITETe =
iii. FoET HIeT =Xl
iv. 3N=Tie aiEmer =X
Arrange the following stages of cognitive development according to J. Piaget.
i. Pre-operational stage
ii. Concrete operational stage
iii. Sensori motor stage

iv. Formal operational stage

(A) i, ii, iv, ii
(B) i, v, iii, i
(C) iii, i, ii, iv
(D) i, iii, ii, iv
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52.

53.

54.

A9 afted & fargra § fuefm arifer 3 gam < forg sraeen i ==t 7 &1 ?

(A) heY-TcHh

Which stage of society was not discussed by Pitrim Sorokin in his theory of change ?
(A) Ideational
(B)
(C) Sensate
(D)

Idealistic

Systematic

et Wew I G e % fohe frgrd % Ty Sier Sar @ 2
(A) GTETCHS aTe

(B) JcitehTcdeh TSI

(C) |ETYA 39T

(D) WdlehTcHe &I

Neil Smelser is associated with which theory of social movement ?
(A) Structural strain

(B) Symbolic politics

(C) Resource deficit

(D) Symbolic rejection

Tl & Th Gy, fg Gy 3R B d anffertor w1 S femerent feam wmen 2 7

(A) b T "GRifes (B) Sf. g
(C) =, Sit. A (D) <ft. faae
The classification of groups into monad, dyad and triad is attributed to
(A) P. A. Sorokin (B) G. Haser
(C) W. G. Sumner (D) G. Simmel
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55.

56.

57.

58.

TH, TH. I J I TRl & Ty § shi-E faeryar w1 fss 78 foram o 7

(A) 3TTEY (B) gUIH! ufummH
(C) Hd=ATIH (D) ==
Which of the following characteristics was not discussed by M. M. Tumin regarding social stratification ?
(A) Analogous (B) Far-reaching consequences
(C) Ubiquitous (D) Ancient

Ffafed o @ SH-91 Ta 1 AR TE. €. g6 gR TR T ar ¢

(A) T (8) Tt

() #ft 3w (D) T ¥
Which of the following village is studied by S.C. Dube ?

(A) Rampur (B) Shivapur

(C) Sripuram (D) Shamirpet

farferfia # & % Ty Faive ST % A § 92 2 7

(A) TS, TS, UFA (B) IgH TgH

(C) . foeree (D) . fererd

Who among the following is associated with the prominent differential scale measurement ?
(A) L. L. Thurstone (B) Louis Guttman

(C) K. Pearson (D) J. Lekert

T A1 gy H, TRt st fgeht duar it wlen snft it 2, 3§ e S 2
(A) THeTcHS =R (B) 3=
(C) U (D) et

In scientific research, a tentative generalization the validity of which remains to be tested is called
(A) Imaginative idea (B) Intuition

(C) Hypothesis (D) Sampling
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59.

60.

61.

62.

“< flogd T TYTH ATh AR (2012) Tedeh fhaa foram ?

(A) uesi TS &2 (B) UHA. UA. SIS Ud 3

(C) et frreiq (D) T. g% TH 3. Ie
Who wrote the book “The Fields and Methods of Sociology” (2012) ?

(A) Lundberg and Hatt (B) L.L.Bernard and Others

(C) Karl Pearson (D) A.Wolf and E. Wolf

I TEErEY o O U 98 8 7

(A) HId BeH (B) 1ot IR
(OEISRERE (D) Tt TieaT
Who is associated with the coefficient of correlation ?

(A) Karl Mannheim (B) Karl Popper
(C) Karl Pearson (D) Karl Polyani

I TETioeh qitEd o afsha fagia & orefia 7 ¢
(A) foeshel T (B) TEl. TE. W
(C) Hed <R (D) TTeThTE TREH
Cyclical theory of social change is associated with whom ?

(A) Vilfredo Pareto (B) L.H. Morgan

(C) Max Weber (D) Talcott Parsons

= & ALY Ueh G-y o Ueh HAUG HYF hl JHET AT &
(A) e ferer (B) Haem

(C) MTehehey-T (D) ErE

LN

An unverified statement of a relationship between variables is known as
(A) Research method (B) Survey

(C) Hypothesis (D) Sampling
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63. fFrafafea ¥ @ wia-t wfafy &g fres & ufafy 72 2 7

(A) et fafer
(B) feue arfetst =1 3w
(C) TR 3R wew arfetept 1 Iw=mT
(D) Eirset fresta

Which one of the following is not a technique of random sampling ?
(A) Lottery method
(B)
(C) Use of Fisher and Yates table
(D)

Use of tappett table

Snowball sampling

64. 3MYFTRAT sl TR H & forw v, frg=a 9 fope oot ween 6t ara T o oft ¢
(A) =1 wifer
(B) &HISIATG
(C) eftare
(D) SETEITE
A. Giddens did not discussed which basic institution for defining modernity ?
(A) Military power
(B)
(C) Capitalism
(D)

Socialism

Industrialism

65. “SUshdl TS TAAI" (1965) T&ieh fohe foraft oft 7
(A) T IR
(B) ot w. umEH
(C) Ul TH. &A1
(D) IR. . A

Who wrote the book — “Bureaucracy and Innovation” (1965) ?

(A) Max Weber
(B) Victor A. Thompson
(C) Peter M. Blau
(D) R.K. Merton
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66.

67.

= 1 o ol T R, T I AT (A) T GER I T (R) aT T R |
rfreRem (A) : @mTRoreh 3T foemm fagri & wiefor a1 39 I & T
H FreEE ¥ Tt g |
ek (R) : T8 T THION o Th1er | ITH HINEE LT & |
3T & Fclrehd ° i e T fomhemt § & W IW w1 = HIfT |
) (A) 3 (R) GH &1 B @201 (R), (A) I Tl = @
B) (A) 3 (R) GH Wl & AT (R), (A) i T =amEe 7 2
C) (A) W&l & T (R) &l Tl &
) (A) TE T = fopg (R) & R

Given below are two statements. One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Social research is related to the studies that attempts to test or challenge
existing theories.

Reason (R) : It receives them in the light of new evidences.

In light of above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct and (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

T Heeul o fgelur <l SIEUM $ehTedl i Tl Sfadl, wel 3 7l 7k b gt o w9 4 ot
forn <1 wehar 2 | fogeisr <l 59 ehTsal o shel STl ®

(A) dcd
B)
(©)
(D)

i

AT
FEUie
In a survey research units of analysis may be taken as households, castes, cities or even societies,
these units of analysis are called

(A) Elements
(B) Population
(C) Sample
(D) Totality
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68.

69.

70.

fg—egeren arfiard) fagia e & @ for firgial &1 awaT= B 2
(A) IEHATE! Td AreEETdl wardl g

(B) WrEETE T Iyard et fgr

(C) IGRATE! Ud PTGt tardt frgr

(D) wrerdeTel Ue ety Eftard g

Dual-systems feminist theory is a synthesis of which of the following theories ?

(A) Liberal and Marxist-feminist theories
(B)
(C) Liberal and Radical-feminist theories
(D)

Marxist and Radical-feminist theories

Marxist and Classical-feminist theories

formereh STTE ol wead gfen 1 e @ 7

(A) deT TR

(B) Tt HTRE

C)

D) $TE gEt

According to whom religion is the heart of a heartless world ?
(A
(B

C
D

) Peter Berger

) Karl Marx
(C) Steve Bruce
(D) Emile Durkheim
2011 STUFT o ITHR WRA | SR i SHEe fhadt 8 7
(A) 95.2 faferm

(B) 104.5 fuferam

(C) 125.2 fuferm

(D) 150.2 fuferm

According to the 2011 census what is the population of tribes in India ?
(A)

(B)

(C) 125.2 million
(D)

95.2 million
104.5 million

150.2 million
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71.

72.

73.

HIF-TT TR quTSTeE} freRrT TRt o I TE A R 7

Which urban sociologist does not belongs to Chicago school ?
(A) E.Burgess

(B) Louis Wirth

(C) Doreen Massey

(D) Robert E. Park

fopem aeh fem fop wmmet g seprzal g o & F5@ srfemd v wuf=a @o et s @ 2

Who argued that society is composed of a number of units that are called Imperatively Co-ordinated
Associations ?

(A) C.W. Mills
(B) A.G. Frank
(C) S.F. Nadel
(D) R. Dahrendorf

forem 3199 dgif=aes < o fova—saaer shi LR &1 ITANT Teh 3= foocivurene sehrs
FETH R R 7

Who has used the concept of ‘World-System’ as a formal analytical unit in his theoretical framework ?
(A) Talcott Parsons
(B)
(C) Karl Marx
(D)

Immanuel Wallerstein

Fernand Brandel
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74.

75.

76.

AT gt o fddres & w9 4 frd g1 ST @ 2

Who is known as the propounder of the ‘Structuration Theory’ ?
(A) Jacques Lacan

(B) Anthony Giddens

(C) Levi Strauss

(D)

D) Ferdinand De Saussure

fepam 3myfehem I T el TioEe’ % w9 H favelfya fem g ¢
ERECIIE

Who has discussed the modernity as an ‘Unfinished Project’ ?
(A) J. Habermas
(B) J.F.Lyotord
(C) F.Jameson
(D) G. Ritzer

fope STepferT ATk AiEsel i awhie i ot ?

Who had advocated on the “Deschooling of Society” ?
(A) Ivan lllich

(B)

(C) P. Bourdieu
(D)

John Macleod

C. Murray
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77.

78.

79.

fopEm wRaRITE ™ aftie T START hid BU Sfd SeedT 6t giaar % smar w1 favafya fea 2

Who has used the indological perspective to analyse caste system on the basis of purity ?
(A) Louis Dumont
(B) N. K. Bose
(C) B. R. Ambedkar
)

(D) Dipankar Gupta

31Uy % fodientor afdes & 9 JeT1 R 7

Who is associated with the labelling perspective of crime ?
(A) Howard Becker

(B)

(C) R. K. Merton
(D) Albert Kohen

Lombroso

Y i TE AT 1 I A7 2 |7 T o 9 a8 g foeeH femn @ 2

“Crime is an integral part of all Healthy Societies.” Who opined this ?
(A) E. Sutherland
(B) Lombroso

C) E. Durkhiem

)
)
)
D) Max Weber

(
(
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80.

81.

82.

ﬁmﬁi@aﬁﬁwﬁaﬂ%mﬁﬁﬁﬁeﬁ“wmﬁ%@ S1ee 1 SN TR ?

Among the following, who used the word “fa siafiability” in the context of social science ?
(A) Karl Popper

(B) Thomas Munro

(C) George Ritzer

(D) William J. Goode

e AT G el FaER 6l femfen w FEfafea § 8 fohg whr # afiea foram s
T & ?

Recording of classroom behaviour by Educational Psychologists can be classified into which of the
following ?

(A) Ethnographic observation
(B)
(C) Non structured observation
(D)

Structured observation

Non reliable observation

foram g tiforep 31T @Tsfefthe feghail (1934), T ot 8 7
(A) T ToRRE
(B)aﬂﬁqﬁw:ﬁ
()

(D) =Tt T

Who has written the book ‘The Logic of Scientific Discovery’(1934) ?
(A) Karl Pearson
(B) Karl Polyani
(C) Karl Popper
(D) Karl Marx
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83.

84.

85.

86.

“gog oM 31 Hitrelt Fe=” (1963) AT T&ieh o & HIH & 7

(A) TG art (B) Sit.dt. W

) faferm 3. 712 (D) Wus Tt
Who is the author of the book “World Revolution in Family Patterns” (1963) ?
(A) Patricia Morgan (B) G. P. Murdock

(C) William J. Goode (D) Raymond Firth

= o @ fope snfuaerel qeve v awied wfica i o1d el R 7

(A) 3. SHIfe (B) IAN. B
(C) TS, SIS (D) TH. FIER
Who among the following has argued about hegemonies masculinity and emphasized feminity ?
(A) E. Corbin (B) R. Connell
(C) L. Coser (D) M. Connor

&I <= Eed 3Th ARG HUS” (1976) o @ B g ?

(A) TRt gRem (B) .. emFEw

(C) wHt fire=w (D) ST heTgd

Who is the writer of the book “New Rules of Sociological Method” (1976) ?

(A) Emile Durkheim (B) J.B. Thompson

(C) Anthony Giddens (D) Crag Calhoun

<&@ fafirem ¢ mar SR JehIATd 61 g |

(A) TS A% TH 1972 (B) IATELE A9 1972
(C) ¥THE HIeYH 1798 (D) fava @ry Trea 1991

“The Limits to Growth” was published by
(A) Club of Rome 1972 (B) United Nations 1972

(C) Thomas Malthus 1798 (D) W.H.O. 1991
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87.

88.

89.

90.

91.

fom yfireht < oW W “TEA ST W1 SYaHmon fRee = A R 7

(A) IF 9= ug fermfem (B) UH 3hct Td T&cY, BiC

(C) st Sfeerdm (D) former TIgTR ua e wied
Who has used the concept of “Human Biogramer” regarding sex roles ?

(A) John Bowly and Lingtis (B) Ann Oakley and W. Hatt

(C) Bruno Bettelheim (D) Lionel Tiger and Robin Fox

frafafiga § 9 form s for “form Iopr wgt 396 et & AMfyes Sfied <l 3pR ed 27 2

(A) T dTeh (B) =foe &
(C) T&. ™ (D) st fawe
Who among the following has provided an account of “How city shapes its inhabitants Mental Life” ?
(A) Robert Park (B) David Harvey
(C) F.Tonnies (D) Georg Simmel

Frfefed 3 & fre wmgman fo fafim faftre yehr & qiEr whizd & o 98- & w&f 2 7

(A) o E B) st. o qen @, fm

(C) . b (D) i 3ree
Who among the following explained that distinct family type tends to settle in concentric zones ?
(A) Burgess (B) B. Berry and P. Rees

(C) R.Park (D) Yogesh Atal

“foeTs AT 3 e s R U feoeft faeier (1958) & wi@esh #iA 7 7

(A) TE. ®. g (B) AR Aferd

(C) TH. . i (D) st. 3R, =EH
Who is the author of the book “Village Life in Northern India Studies in a Delhi Village” (1958) ?
(A) S.C. Dube (B) Oscar Lewis

(C) M. N. Srinivas (D) B.R. Chauhan

frfafed 9 & fope wia 3R Bfawdeni i w6 TR I Je-THS T2 foham ?

(A) 3T Sidgel (B) IR. {&hHIc
(C) IR TgH (D) 3. ANSH
Who among the following conducted the comparative study of peasant cultures of India and Mexico ?
(A) Andre Beteille (B) R. Redfield
(C) Oscar Lewis (D) E. Norbeek
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92.

93.

94.

95.

ST = aiwTsT § #. "o 3 fRE Y WSS T8 eI o v

(A) TETgHH (B) T
(C) aITgTa fermrsan (D) SferepuoT
Which tendency was not emphasized by C. Bougle in the definition of caste ?
(A) Hierarchy (B) Exploitation
(C) Hereditary specialization (D) Repulsion

“efsad, frsqerar o smror w1 wdequr s Sl =T I AT 8 — 39 fohEe a7

(A) T S5, i (B) HehTeeR T U
(C) eert (D) T. Fh
“Objectivity is the willingness and ability to examine evidence dispassionately”- Who said it ?
(A) A.W. Green (B) Maclver and Page
(C) Lundberg (D) A. Kofs

@ fiueH =aTgw A1 1 [T Uit Th. TSRwhles U9 31 (1948) 1 foram o | fopm argeeam
T ICET & 7

(A) SR STEYT (B) AR 3TEU

(C) Uferarfers @y (D) TEeTT FHAH

‘The Peoples Choice’ a study carried out by Paul F. Lazarsfield and Others (1948) is an example
of which research ?

(A) Experimental research (B) Ethnographic research

(C) Historical research (D) Survey research

“fIm Sraciieh @ 3% BraT ® 3T 30 o S1f=w Foyar & foTe qH: STaeiieh W S ST ugd
2 | fefafad § & from 39 W v e ?

(A) Hi. T AR (B) 3. U. STEH

(C) . =i, =m (D) &3, I TS W6 W, %, e

“Science begins with observation and it has come back to observation for its final validation”. Who

among the following highlighted it ?
(A) C. A. Mozer (B) E. A. Bogardus
(C) P.V.Young (D) W. J. Goode and P. K. Hatt
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96. TUWl. SYAI< A AR HHIS H HIHTh Tia o fareersr i ford 3umm g wfaure fepar o 7

97.

98.

(A) ThrEITcHS T gifer
(B) HHTHH-UfaTierh
(C) Wi -Tfieh

(D) TSTifcreh-3fagraeme

L. Dumont had propounded the analysis of social change in Indian society through which approach ?
(A) Functional frame of reference

(B) Cognitive-historical

(C) Hedonistic-economic

(D) Political-historiographic

IRA H fohe a 9937 Fogl SoTel! (Ivqe) stfaf=m uria foram a2

In which year Bonded Labour System (Abolition) Act was passed in India ?
(A) 1962
(B) 1972
(C) 1969
(D) 1976
Tor fogM = 3nyfeh SH-FER i 3T SredfaehdT o HIY SIS AT ?
(A) SfE. THET
(B) . wifgeme
(C) J. Th. TS
(D) TH. HEe
Which scholar associated modern mass media with hyper reality ?
(A) Z.Bauman
(B) J. Baudrillard
(C) J.F. Lyotard
(D) M. Castells
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99. = fqU T QI Al H § Teh i I(UHT (A) 3T G I Tk (R) gl T ¢ |
aftrrem (A) @ o H BRasRIT % HROT g ariefae JeeE 3o g 2

& (R) : 3Tk Iaared & foru gt yfteTa S/ w1 31fesh gred 3fiR e 9
TER @G| 1 37fd START o %ol TET I8 g |

IR FUAT F NS B FEfRad et § § Faifue ITgE IO 94 |
(A) (A) 3T (R) SHI @&l & 3 (R), (A) i 9&1 =ame §
(B) (A) 3T (R) 2T Tl € 3T (R), (A) 1 T = T &
(C) (A)T& 2 g (R) TeTd &
(D) (A)TIeTd & T (R) Wel @
Given below are two statements : One is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : Many ecological problems emerged in Punjab due to Green Revolution.

Reason (R) : It happened due to over use of soil, ground water and pesticides and

chemical fertilizers for excess production.

In the light of the above choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct
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100. = fu ™ § el § & wH w1 AR (A) 3R G HI T (R) FHET TR

Afwe (A) @ EEUT gfROT Wd AiqeRiE TE 2

T (R) : TreehEl o1 Y URER (3ea) AT ARAT 1§ TGN THET |
IRIF HU % 3l § Frefiad fedt § & gaifues suge 3w g |

(A) (A) 3T (R) 3T W& § 3T (R), (A) T wE =wen &

(B) (A) 3T (R) THI W&l & 3 (R), (A) T w&l = & &

(C) (A) W&l 2, g (R) 7Ted &

(D) (A)TTerd ® W (R) &l B

Given below are two statements : One is labeled as Assertion (A) and other is labelled as Reason (R).

Assertion (A) : The whole of South India is not matrilineal.
Reason (R) : Both the joint family of the Nambudiris (ILLAM) and the joint family of the Nayar
are same.

In the light of the above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(C) (A)is correct but (R) is not correct

(D) (A) is not correct but (R) is correct
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